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1. Whatis Multivaniable Calculus? .
S1vdy of change mllhiﬂc AiMONS iz —~ (PA
Why would yourmajor want youto know this matenal?
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Given the points A(3.1,2), B(.0.1), and C(0.2,0), Find the angle between the vectors BC and AC
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2. Given EninsA!.l_fj (-2,0.1h, ald €(0.2,0), Find the parametric equation ofthe line containing AB
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b) Given &x + 2y + 4z = 16 Find the intercepts and graphthe plane. Graph the intercepts and the plane in the first octant.

Draw a graph ofthe plane whenx, v, andz are pcsﬂt
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Given th ts A(3,1,2), B(: ). (0.2,0)
epoint (1.

b) Whatis the distance between (1.3,0)) and the plane containing A, B, and C
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6. Draw thelevel curves on the x-v plane forz at 0, 1, 2 forthe surface:
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7. Find rit) underthe conditions that r'(t) = (c,osr)_i"+ il —rﬂ)}+ s and (D) = ?+}
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£, Given rff) = <21+3,04%> | find the distance between r(3) and r(0).
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. Given the position vector r[t)l=
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. Give the equation ofthe line ofintersection betweenthe plane x +v = 1 and the plane 2):&36"1 6
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). Given the position vector r(t) = <5t, 2sint, 2cost>

a) Find theaccelerationatt=0

(1 =€ 5,120t 25t 0)=¢0,02
'nﬂ) (0 -2sm} -2051

>Answer
b) Find thespeedatt=10
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Answer <

10.
Give the equation oftheline of intersection betweenthe plane x +y = 1 andthe plane 2x +3z =67
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